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A knot diagranﬂ ¢ €1 C2 €5 €T C11 €8 (4
Ideals for irreducible component#ﬂ)f Xpar

I = (w® —u® 4+ —u?+ 1)

* 1 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u —udt+... —u?+1)

(i) Arc colorings

w- (1)

1

a7 = 0
1
ag = _u2
U
ar = \—ud+u
—u3

a3 = \u® —ud+u

—u?+1
a5 = 7,“2

uwt—u?+1
a8 = u4

wlt — 209 + 4u” — 4u® + 3u®
a1 = \gM — % + 20" = —uP 4 u

u'® — 3u!% + 8u't — 13u'? + 1700 — 15u® 4+ 10u® — 2u* —u? +1
ag = wl® — 2u10 + 5yt — 6ul? + 5ul0 — 248 — 20l + 4ut — o2

—ut 4+ 5ud w1

ay = _u34+4u32+._'_~_4u6_u2

ul® — 207 + 6ut® — 8uld 4+ 11wt — 10u° + 8u” — 4ub® + 3u3
a9 = D3 RV V06 L DR IO

ul® — 2017 + 60t — 8u!d 4+ 11wt — 10u° + 8u” — 4ub® + 3u3
aio = —u*t +3ut? + - — w4

ii struction class = —
ii) Obst ti 1 1

(iii) Cusp Shapes

= 4u33 — 4432 — 16031 +20u30 464127 — 76128 — 160127 +204u20 +35612° —440u4 —624u?3 +
77202 +948u' — 1120120 — 12046 + 133618 4 1308u'™ — 130416 — 1180u!® 4 984u™ +
888u3 —528ut2 —512utt +128ul0+216u° +80u® —40u” —96u’ — 16u° +32ut +16u>+4u—10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq uP -t 21
€2, 5,71 WMt 2u 1
€3, C4, C9 I IS SRS A
C10
cs, C11 u Tt o 8u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce ¥ -9 2y -1
€2, C5, C7 y*® 4+ 353+ 18y — 1
€3,C4,C9 v 439 42y —1
C10
€8, C11 Y+ 15y 4 — 14y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.962624 + 0.3032181

—3.18298 — 4.648201

—10.32267 4 8.030741

IS

0.962624 — 0.3032181

—3.18298 + 4.648201

—10.32267 — 8.030741

<

0.966916 + 0.1780861

2.77604 + 1.426031

—8.39342 + 0.408441

~
IS

0.966916 — 0.1780861

2.77604 — 1.426031

—8.39342 — 0.408441

—0.949626 4 0.2478461

—3.51316 + 0.869291

—12.03394 — 0.578511

—0.949626 — 0.2478461

—3.51316 — 0.869291

—12.03394 4+ 0.578511

= —0.982664 + 0.3448901

3.73413 + 7.154891

—6.21404 — 6.892941

—0.982664 — 0.3448901

3.73413 — 7.154891

—6.21404 + 6.892941

—0.625205 + 0.5856001

8.06862 + 2.144851

0.03823 — 3.395791

—0.625205 — 0.5856001

8.06862 — 2.144851

0.03823 + 3.395791

0.826215 + 0.8170941

3.13686 — 1.069081

—6.00348 + 2.725421

IS RS ESE R B -~ E~

0.826215 — 0.8170941

3.13686 + 1.069081

—6.00348 — 2.725421

~
IS

—0.899785 +- 0.7394311

7.92591 + 2.805731

—2.67118 — 2.920171

= —0.899785 — 0.7394311

7.92591 — 2.805731

—2.67118 +2.920171

—0.815673 + 0.8490451

4.17141 — 2.716081

—3.22921 + 3.466541

—0.815673 — 0.8490451

4.17141 + 2.716081

—3.22921 — 3.466541

0.815012 + 0.8720211

11.60150 4+ 5.246261

—0.28520 — 2.123311

0.815012 — 0.8720211

11.60150 — 5.246261

—0.28520 + 2.123311

—0.895926 4 0.8201691

7.25366 + 3.060741

0.53879 — 2.898231

—0.895926 — 0.8201691

7.25366 — 3.060741

0.53879 + 2.898231

IS RS ESE R B A~

0.950191 + 0.7838751

2.75474 — 4.933621

—6.65730 + 2.468521

~
IS

0.950191 — 0.7838751

2.75474 + 4.933621

—6.65730 — 2.468521

0.909352 + 0.8543221

15.6759 — 3.16871

1.84371 + 2.557741

0.909352 — 0.8543221

15.6759 + 3.16871

1.84371 — 2.557741

—0.968524 4 0.7973291

3.69689 + 8.853531

—4.28524 — 8.344371

—0.968524 — 0.7973291

3.69689 — 8.853531

—4.28524 + 8.344371

0.979984 + 0.8089911

11.0850 — 11.48931

—1.26828 + 6.964891

0.979984 — 0.8089911

11.0850 + 11.48931

—1.26828 — 6.964891

0.616861 + 0.3738341

0.93698 — 1.489101

—0.78415 + 6.558471

IS RS ESE R B A~

0.616861 — 0.3738341

0.93698 + 1.489101

—0.78415 — 6.558471




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.163878 4 0.6279301

6.28325 — 3.679481

—0.34607 + 2.463751

u = —0.163878 — 0.6279301

6.28325 + 3.679481

—0.34607 — 2.463751

u = —0.621610

—0.791732

—13.6740

u = 0.084932 + 0.5444571

—0.58473 4 1.622741

—4.08967 — 4.274991

u = 0.084932 — 0.5444571

—0.58473 — 1.622741

—4.08967 + 4.274991




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce u -t 4 —u? 41
Co,C5,C7 uWP ot 4+ 2u+1
€3,C4,C9 wd — e 2ut1
C10
cs, C11 uP Tt 8u+ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1, Cg Y -9yt 2y -1
C2,Cs5,C7 y35+35y34+~~+18y71
C3,C4,Cy y35+39y34+---+2y—1
C10
€8, C11 y35+15y34+~~ — 14y — 1




